
	
  

Installation	
  Instructions	
  
Light	
  Bar	
  /	
  Pre-­‐Runner	
  
06-­‐13	
  Toyota	
  FJ	
  Cruiser	
  

Part	
  Numbers:	
  
T064LB/T062LH	
  

 

 

Installation Instructions for FJ Cruiser  

T062LH & T064LB 

 

 
 

Hardware Kit Contains:  Recommended Tools:  
4)  5/16”  x  1”  Carriage  Bolts   Air Saw or Cutting Wheel 
4)  3/8”  x  1”  Hex  Bolts   ½”  Socket  Wrench 
4)  5/16”  Flat  Washers    ½”  Wrench 
6)  3/8”  Flat  Washers    9/16”  Wrench 
2)  3/8”  Hex  Nuts    9/16”  Socket 
2)  3/8”  x  4  ½”  Hex  Bolts        
2) Light Bar Brackets 
     
Step 1:  Locate  the  bracket  marked  “DS”  (driver  side).    Starting  with  the  driver’s  side,  locate  the  two  
bumper bolt locations on the frame horn and loosen the left 14mm hex head nut half way.  Next, take the 
driver  side  bracket  and  slide  the  ½”  notched  portion  of  the  bracket  down  over  the  14mm  frame  bolt  and  
hand  tighten.    Next,  take  a  3/8””  x  4  ½”  hex  bolt,  3/8””  flat  washer and start from the bottom side of the 
bumper  bracket  and  go  through  until  the  bolt  is  through  the  light  bar  bracket  on  top.    Add  the  3/8””  hex  nut,  
3/8”  flat  washer  on  top  and  hand  tighten.    See  Figure  1 
 

                            
Figure 1       Figure 2 
 
Step 2:  Trim  out  a  1”  slot  in  the  plastic  mesh  on  both  sides  of  the  bumper  (see  Figure  2).    This  will  allow  
the light bar brackets to slide through and match up with the brackets on the bumper mount. 
 
Step 3:  Carefully  slide  the  light  bar  through  the  1”inch  slotted  hole  in  the  bumper  until  the  four  brackets  
align.    Next,  start  the  two  3/8”x  1”  hex  bolts  and  5/16”  washers  in  each  bracket  and  hand  tighten.    Then  
start  the  two  5/16”  x  1”  carriage  bolts,  5/16”  washers  and  3/8”  hex  nuts  in  each  bracket  and  hand  tighten.     
 
Step 4:  After the final adjustment, torque each bolt location to 15-20 ft/lbs.  This concludes the 
installation. 
 
Questions or Concerns?  Call (281) 880-NFAB 
 

Products	
  Licensed	
  to	
  N-­‐FAB	
  Inc.	
  by	
  Fichter	
  Designs	
  are	
  protected	
  by	
  US	
  Patent	
  Law	
  and	
  International	
  Copy	
  
Right	
  Law.	
  Protected	
  Patents	
  include	
  US	
  Patent	
  #6588783,	
  #6874801,	
  #7416202.	
  Other	
  patents	
  and	
  

continuances	
  pending.	
  N-­‐FAB	
  product	
  configurations	
  also	
  protected	
  by	
  International	
  Trade	
  Dress	
  Law.	
  All	
  
Designs	
  and	
  Patent	
  infringements	
  will	
  be	
  prosecuted	
  to	
  the	
  full	
  extent	
  of	
  the	
  law.	
  	
  

	
  
	
  

For	
  Technical	
  Support,	
  Please	
  Call	
  281-­‐880-­‐6322	
  
N-­‐FAB	
  Inc.,	
  12302	
  Shiloh	
  Church	
  Rd.,	
  Houston,	
  TX	
  77066	
  


